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1% (Function)
Fs Y S ‘
o5 % % (Function)
L1 BRIV R

RE& )Y dobde s e B iR bl e fide 7 iE
— JHZS
1 y= o R
2. BB f(2)= V2" — 1IE LR
3. B y=In(x— D@ XK
1, % f(o)=2'+x+1 W fa+1)= .
5. ¥ f(x)=uxcos x KEIEXT XTFR.
6. BRE v=—xtan x WEE X T Xf FR.
7. & f(o)=2"—2,0 f(e"—2)=
R
1. y=In(xa+ 1+ 22 AR L. ( )
2. RE f(x)=e "fEXE (1, +o)BA FHRITLAM. ( )
=.tE

L [1.\.1'|§l o -
. ()= s 3 (x) |.
L& S@O=1 > KR fLf()]
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2. B B oR B LA AR S R B E A
(D y=arcsin*(z+1) ; (2)y=1In® V/2'—1.

3. B y=lnu,u=4—7" ,v=cos x BREE & 1M B 1 oK %K.

CRETLEY 75 50 s e A, — 5 BN B — T !
— B
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A o B LU0, 1], /(2 — DI E O

2. fx)=zx+1 .gp(f)-:l_’}l_z,mlj f’[¢(1)+1]:
ol f()+1]= .

3. AR f(a— D =2"—2x+6,0 f(x)=

4. R £ R 3f<1>+412f<—%>+%=o,mu Flzd=

5. By —le (e’ — 2 —2) M U AR y= [T 5 SR B
ANB= .

6. BREL y=log, (6-+x—2x%) f) BA 1 33 1 X ] & .

7. y=In(sin 3x) & iy A7 B A 4L Ak

8. BRE y—eY" ORI AT MR 54 1R
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9. PREL y=cos’ (4x+2) & 1 A B2 R 4K 2.
BN B VBTE 3]
L. T3 R B WP 2H R BURAHSE /Y ( )
A, y= vt y=|z| B. y==x, y=e™
€. y=2z+1, z=2y+1 D y==L, y=1—uz
2. T H R BT R pR B 2 ( )
A. y=xsinx B. y=2"+=x C. y=2r—2"* D. y=uxcos x
3. R AN R BTE 45 5 X 8] (— oo, +oo) I BRI i 2 ( )
A. sin x B. e” C. 2* D. 3—=x
4B S =1 W)= ¢
A L B. L ., = D. 2

J T
5. 4 R B B R AT eR S0 S B R 1 0 1 eR B0 ( )
A.sin’x B. 2'+1 C. 2*+=x D. 2 —=x
6. ELANBSL /() = log,x, Fasy) —axty" ll FAD), DET C
A —1 B. 5 C. —8 D. 3
7. FEIREBER (055 ) LA R, SR LA ey R0 £ o R C
A. y=|sin x| B. y=|cos z|
C. y=|sin 2| D. y=|cos 2x|

=W OB LU0, 1], 43 5K T 5 oK R 2 .
1. f(x*) ; 2. f(sin x) .
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1. ¥ ¢(sin 2) =cos’z+sin 2+5,3K ¢(x);

2. Wgle— D=z +x+1,K gla);

3. &4/‘<‘1~+%>:I2+%,>ﬁ ).

o HI BT A ek B AT A A
1. y=In(z+/1+2*) ;
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& (Function)

i 9.l'<0 )
XL

N E A = 9, 0 p 1 HOE SR ESR BBUE £(0) . f(VD) s fl@) (a B0 FF

1,1<x<{2
fE i B .
£ KT 5 eR B S eR
. 2"
1. y=2sin 3z ; 2. Y=o 17 -
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1. y:{‘/arcsin a’ 2. y=sin In(4x—3) ;
3. y=a™ " 4. y=In[In*Un’2) ] .

CRFABAY &b SRR & AR A S48 T g

— . FIX A 7R T 51 ek 8O 5E SCBR.
1

1. y_—?—,/]—l-? ; 2. y=arcsin(1—x) +lgllgzr) ;

Y ey ol N A, f(x)= 1 ses] K fCe+3) [ IR
3. \/—“ ; 4. x 3K T3 X .
3. ¥ 6 br—a In(2—2) A —2 1<r<2 Ha
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tA % (Function)
- .2' o < N
B R y=J ¥l IS e o sk HAE £ D fla) (a H9:
lzt=1,1< |z | <2
B0, 315 E .

=R (OME XA R.BHEL 3 AEAIMBEFRE| F(1) ] >2, £(2)=log,4
(a>0,H a#1) ,3REH o WEETE .
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1. y:C.m.i,; 2. y:% In V2P +=x .
1, |x]<1

L (=1 0, |z]=1 ,g@»=eR flg] ,g[f(D] IEREMNHEE.
-1, |x|>1
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N f () NBTRBGIER 5 (7 2=0FF X, £(0)=0.
1.2 HFINE
CRESES]Y & A EEXE T )8 F e e 7
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1. B a,pHF B sin a:%,cos(a—i—ﬁ):%,'}lﬂ cos B%F ( )
1—/3 V3—1
| NEY
(_/. ? D. —2—
2. F ol AR o BAEC S 5 ) b R ek B 2 ¢
A. y:sin(Zer%) B. y:cos(21‘+%)
C. y:sin(l‘-i—%) D. y:cos(1+%)
3, E:%DAAch:,cotA:—%,mu o ¢
5 _5 _12 13
A T3 B. =3 13 D=1
4. éﬁi&y=1n<2.z+1>(1>—%)ami@§&% ¢
A. y=%e"—l(IER) B. y=e*—1(x€R)
C. _y:%(e‘“l)(IGR) D. y=ef —1(zER)
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1. fx+a) (a=>0) ; 2. fle)™,

3—2x

= KReRE y= V3~ r+Farcesin— i E k.
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CRBVLEY 7550 0k S0 T A, — 5 BN LA — T )
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1. # log.2=m,log,3=n,a"""' "= ;
2. % cos at2sin a= —+/5, | tan o=
3. PR yicos(l“F%)B‘Jﬁﬂﬁi‘é‘.’merﬁl%
4. B2H taru:%(n<1'<27r),}r![| cos(21—%) . cos(ét-—.r)*sin(zvr*%) . sin(%—‘r)
5. sin(%*&r) . cos(g—&r)*cos(%+31) . sin(%+31)=
6. AN lg2cosx™>0,(x € (0.70)) ISR R
S 4 1
7. # 0 W cos 6>*7omUﬁlﬁﬁgﬂl{E$%%
TR PE
1. BB y=V2xr+1+/3—4xilE X N ( )
L s 13
A. ( ?aI) B. [ 7 4_]
. 1 - 3 1
G (_}‘7JU[—1’+OO) D. (—'fvo)u(09+oo)
2. FHIXM KR P ANENES MAES N & ( )
A‘ M:l~1'|.1' %%ﬁﬁj}9N:(O’l)vf:5kIEgz
B. M=R,N=R, {4 % {H
C. M=R' ,N=R. f: 3R
D. M=R,N=R, [ BUE| ¥
3. KRB y=42" —ma+5,. XA a=—2, 0% r=1 B,y H{EHH ( )
A, —7 B. 1 C. 17 D. 25
z—5 (x>=6)
4, BH f()= JU £ N ( )
FO= et ey
A. 2 B. 3 C. 4 D. 5
5. % log. %<1-WJJ a fBUE JE B 2 ( )
2 2
A. (?c]) B. (§1+C@)
C. (0,250, +oo) D. (0,2)UE,+0)
3 3 3
6. % cos(nta) =5 o x<a< 2 M sin(Zn—a) % F ¢
V3 V3 1 V3
A, ? B. 7 (/. 2 D. i_ 2
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&B EHAATES

7. W sin r+cos 2=+, B 0<a<n, B4 cot = MR

_Z 4 3 _3
A. 3 B. 3 af 1 C. 1
8. B 1‘6(—%.0),003 fZ%JﬂJJ tan 2x T

7 7 2
A. 21 B. 21 C. 7
9. #& f(cos x)=cos 2z, f(sin %)%‘%ﬂ:

1 1 . _W/3
A. 5 B. 5 C. 2
10. sin(x+60°)+2sin(z—60°) —/3cos(120°— z) (I{E K

1 V3 .

A. 5 B. 2 C. 1
=.rE

LoXFF KRS y=—42" +8x—3

(1) 45 5 BSA TF 17 1] 0 FRGh J7 #  TUG A8 45 5
(23K o B8 A) e KA o e /ME 5

(3) 73 Hr bR B9 B30

(o Ty_12 m T’
2. B4 cos(a 6) 36 <a<l 5 ,2K cos a.
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